e e e e e B e B B B e e e e e e B

433 granl) zaliall 45 g0
https://eduschool40.blog
Gl Ll Ja) el aead sl 8 5al
433 gral) Ay jall ASlaal) 8

Al A A L L L L 8 e e L L e e e e
LU U8 U8 8 L i Ll e e e L L L e e e

e e e e e B B e e e B e B -


https://eduschool40.blog/

Y sl Babe (e A pad) Jo ol
Sections 45& 4.6 & 4.7 & 4.8

1) Find the critical numbers of f(x) = x3 +3x2 + 1
A)x =23 B) x=14 C) x=-20 D) x =25
2) The critical number for f(x)= x3+3x>+1 is x=1
A) True B) False
3) The critical numbers for f(x) = x3+3x%2+1 arex=0,2

A) True B) False

4) The critical number for f(x)=3x*+6x+1 is x=-1

A) True B) False

5) Find the absolute minimum of f(x) = x3+ 3x? + 1,0on [—4,4]
A)x =—4 B) x =4

C) x=-2 D) No answer
6) Find the a bsolute maximum of f(x) = x>+ 3x%?+ 1,0n[-3,3]

A)x =—4 B) x =4 C) x=-2 D) x=3

7) Rolle’s Theorem can be applied to f(x) = (x — 3)(x + 1)?,
on [—1,1].

A)True B) False

8) Mean Value Theorem can be applied to f(x) = x3 — x? — 2x,
on [—1,1]

A)True B) False



9) f(x) =2x3—4x%? + 1 is decreasing on the intervals

D=0 Bz 003)  DEw0uGw
10) The function f(x) = x*> + 9 is increasing on interval (—,0)
A) True B) False
11) The function f (x) = x? + 9 is decreasing on interval (—o, 0)
A) True B) False

12) f(x) = x® — 3x? + 7 is decreasing on the intervals

4)(0,5) B) (=0, —1) ()(=15) D)(0,2)

13) f(x) = x3 — 3x? is increasing on the interval

A)(2,3) B) (—0,0) €)(0,2) D)(—0,0) U (2,)

14) Find the intervals of concavity down of f(x) = x3 —7.
A) (7,) B) (=,0) ¢) (01 D) (0, )
15) The graph of f(x) = x3—3x%*+ 7 is concave up on
interval (—oo,2)
A) True B) False

16) f(x) = 5x3 + 30x2 + x + 1 is concave down on (—o0, —2)
A)True B) False

17) The function f(x) = x3 — 3x? + 4 is concavity down
on (—,0)

A) True B) False



2
18) The graph of f(x) = x3 — 2x% — 2 is concave up on (5, oo)

A) True B) False
x2+1
19) The graph of f(x) = 27 4 LS concave down on the
intervals

20) The graph of f(x) = x*+ x3 —3x% + 1 is concave down
on (—1,1)
2
A) True B) False
21) The graph of f(x) = x* — 6x% + 8x + 10 is concave up

on (—1,1)

A) True B) False

22) The graph of f(x) = 2x3 —9x? — 24 is concave down on
(0,3
2

A) True B) False

23) The graph of f(x) = 3x3+9 is concave down on

A)(1, ) B) (0,2) €)(0, ) D) (=, 0)



24) The function of f(x) = 2x3 + 9x% — 24 is concave down
on (—oo,— E) :

A) True B) False
25) Find the intervals of concavity up of f(x) = x3 + 15.

A) (0, ) B) (—,0) ¢) (0,1) D) (0,3)

26) The graph of f(x) = has a point of inflection
g 1

2
at (—1,1)
A) True B) False
27) The graph of f(x) = x2x—1 has a point of inflection at
x=-1
A) True B) False

28 — 35) Usethe graphof y = f(x) to answer the following:

/\ 1%,
=7~ \/\

28) y = f(x) isdecreasing on.

A)(—2,-1) u(0,1) U (2,3) B) (—o0,—1) U (1, )
C) (—o0,—1) U (2,00) D) (—o0,—1)



29) y = f(x) has an infinite discontinity at x = 1.

A) True B) False
30) The absolute maximum value
A)x =3 B)x =-3 C)x =-1 D)x=20
31) The local maximum values
AHx=1 Bx=-12 COx=-31 D)x = —2,0,2
32) y = f(x) has a jump discontinity at x = 1.

A) True B) False

33) y = f(x) isincreasing on.

A) (—2,—1) U(0,1) U (2,) B) (—o0,—1) U (1, )
C) (—o,—1) U (2, ) D) (—3,-2) u(—1,0)uU (1,2)

34) The absolute minmum value

A)x =-3 B)x =2 C)x =-=2 D)yx=-1

35) the local mminmum value

A)x=1 B)x=-1 C)x =-3 D)x=-2,0,2



36 —43) Use the graphof y = f(x) to answer the following:
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36) y = f(x) is decreasing on

A) (a,b) U(c,d) B) (b,c) u(d,e) C)(a,e) D) none

37) The local extreme points are

A)x=b,cd B) x =a,d C)x=be D)x=ea

38) The local maximum points are

A)x=a,ce B)x=c C)x=a,e D)x =b,d

39) The absolute maximum points are

A)x=b,d B)x=d C)x=ca D)yx=a

40) y = f(x) isincreasing on

A) (a,b) U(c,d) B) (b,c) U(c,e) O©)(a,e) D) none



41) The extreme points are

A)x=b,c B)x=ad C)x=b,e D)none

42) The local minimum points are

A)x=a,ce B)x=c C)x=a,e D)x=b,d
43) The absolute maximun point is

A)x=0b B)x=d C)x=c D)yx=a



Integrals

1) Evaluate | e3* dx =

A)3e3* +¢ B) e¥* +¢

e3x e3* +¢
C —+ D
) 3 ¢ ) X
1
3) Evaluate f x* dx
~1

A) 5 B) 2
1

3) Evaluate j 4%  dx
0

4) f csc(7x) cot(7x) dx

A) cot7x + ¢

1
C)— 7csc7x +c

In7

5)] —e* dx =
0

A1l B) 4

2m
6) f sinxdx =0
0

A) True

C - D)0
) 2 )
C - D >
) In4 ) In4
B)7 cscx cotx +c¢
D)— cotx+c
C) 6 D) 42/In7

B) False



7) j(sinzx + cos?x)dx =x+c
A) True B) False

8)j 3sin2x dx =
3 2
A)—Ec052x+c B) cos§x+c C) sin2x +c
+cC
9)j(xz—5)4 (2x) dx
A) 2x+c B) x+c

2 _e\5
C) Q+c D)(x?> —5)*+¢

tan 7x
7

10) jsec2 7x dx = +c

A) True B) False

) _ tan4x
11) csc® 4x dx = 2 +c

A) True B) False

1
12) Evaluate f x3 dx
~1

A) 0 B) 3 0)

D)

cos 3x

D) 4



13) f%cos xdx =-1
0
A) True B) False
14) f(sinzx + cos?x) dx =
A1l B)0 c)%+c D) x+c

15)f 6 cosbx dx =

6 _ 6bx 6 sin 5x
A)—§c052x+c B) sm?+c C) c +c D) cos5x
+c
16) f(xz +10)° (2x) dx
A) S5x+c B) x+¢c
xZ _ 5 10
C) %4‘ D)(Xz —10)9+C

1
17) Evaluate J 2% dx
0

2

1
18) Evaluate f x? dx
~1

A) 10 B)—9 )0 D)9

10



19) j4cot 4x dx = Insin4x +c

A) True B) False

1
20) Evaluate J 11*  dx
0

2 10

A AT B) inll O i

21) f (x_% + x§> dx =

15 3 1 35
A)x3+x3+c B)§x3+§x3+c
3 2 38 2 2 88
—x3 + —x3 D)=x34+ =x3
C)Zx +8x +c )3x +3x +c

In2
22) jex dx =
0
A)—1 B) 1 c) 2

T
2

23) j tanxdx =0
0

A) True B) False

24) j9tan 9x dx = Insin9x +c¢

A) True B) False

11

D)

D) 1/In3

In11



